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0] 3]1.000| 1.000 0 0 0 0 0 0 0 0
1] 4(0.962]|1.000 217,000 197,273 189,776 0 0 0 0 0
2| 5(0.925| 1.000 220,000 200,000 185,000 15,944 1,646 15,598 33,188 30,699
31 6]0.889 | 1.000 220,000 200,000 177,800 32,108 3,316 31,412 66,836 59,417
41 7]0.855| 1.000 220,000 200,000 171,000 48,272 4,986 47,224 100,482 85,912
51 8]0.822| 1.000 223,000 202,727 166,642 64,437 6,656 63,038 134,131 110,256
6] 9(0.790| 1.000 80,822 8,348 79,067 168,237 132,907
7 110( 0.760| 1.000 80,822 8,348 79,067 168,237 127,860
8 11| 0.731| 1.000 80,822 8,348 79,067 168,237 122,981
9 |12( 0.703| 1.000 80,822 8,348 79,067 168,237 118,271
10| 13| 0.676 | 1.000 80,822 8,348 79,067 168,237 113,728
11|14 0.650 | 1.000 80,822 8,348 79,067 168,237 109,354
12| 15| 0.625 | 1.000 64,878 6,702 63,469 135,049 84,406
13| 16| 0.601 | 1.000 48,714 5,032 47,655 101,401 60,942
14| 17| 0.577 | 1.000 32,550 3,362 31,843 67,755 39,095
15| 18| 0.555 | 1.000 16,385 1,692 16,029 34,106 18,929
16| 19| 0.534 | 1.000
17| 20| 0.513 | 1.000

1,100,000 1,000,000 890,218 808,220 83,480 790,670 1,682,370| 1,214,757
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« 7/ 9,421 > > ( x<2 > > /1,000
2-3
/ 9,926 [(2-1 ) (2-2 )
3-1
() 110 3 6 8
c7) 3.0
/7 2'01) 1 259 1 1g
/) 3.0 2.29 0.2 /g
3,500
«7) 38,500|259><2.29><0.2 3,500 38,500
« 7/ 12,705 ><( > > /1,000
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() 110 3 6 8
/) 1.0
/) 0-911y 1 25g 1 1g
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) 38,500|259><2.29><0.2 3,500 38,500
« 7/ 16,940 ><( > > /1,000
3-3
/ 29,645 |(3-1 ) (3-2 )
4
() 172 3 6 8
) 1.7
) 5> ol 200 200 /4=50 176
176 /5=36 2
«7) 700,000/50 36 86 <2 172
« 7/ 10,624 ><( / / /1,000




5
«7) 3,507,168
C7) 6,756,236 H23 R2
«7) 1,125,954
C7) 11,479,358
«7) 1,147,936
« 7)) 10,331 /1,000
1
H23 R2
...13,637,511
7)) 50,372,649 o
...36,735,138
28 77
42 16.7%
() 10.5| 29 05 7
11.5 4.3%
28 29 16.7%+4.3% /2 10.5%
« 7)) 5,289| = /100/1,000
2
R3 0.13kg/m2
109,000m2
o/ ) 10,628 0.13 x 109,000 =<P/B 3
/ 0.25 =10627.5
( /kg) 740 H28 R1
() 38.9 H27 RL
« 7)) 3,050 =< > /100/1,000
1
26
(OTN)....274kg/
(OIN)... 91kg/
H27-R1
coD (kg/ ) 5,882 (TP/TN)...0.15
/ . 1.49
CoD (COD/TP)...72.1
TN(274kg/ +91kg/ )><0.15>1.49>=72_1=5,882kg/
CoD o/ ) o ras
C7) 658| 7
( 7) 44,381 8
«C 7)) 29,203 =< /1,000




o 2 .10, 628kg/
() 4,251,2002021 20mm ..2.5g
10,628,000/ )/2.5(g)=4, 251,200
(ui/ ) 8.76| nq s
coD (kg/ 1) 0.0020 B H27-RL
S 14 R3.s
coD R3.5
¢/ oo/ 4,782 4,735  /kg =<R1 GDP 101.2/H27 GDP
100.2 4,782  /kg
( /) 49,864 >< > > /100>x< /1,000






